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111&1%15p &

e 1) et A &3 % A
12 1p | 1074205|3% &2 % 20, 000 Mo~ A B
12¢ 1p| 107420632 % 20, 000 Mo~ A B
12 1p | 1074207|E=~ * 15, 000 Mo~ A B
127 19| 1074224 % % 2,000 Mo~ A B
12¢ 1p | 1074225|2 5% 3,000 Mo~ A B
12010 | 107422648 @ & 2 B35 4 3 6, 000 T~ (LAt B4
12¢ 1p| 107420958 g & 6, 000 T~ (LAt B4
12¢ 1p| 1074210[4 = 8 5, 000 T~ (LAt B4
127 19| 1074211|% 454 ~ 4£~ 3k 2. 020 e~ AE B
12¢ 1p | 1074212| % Bog 1,000 T~ (LAt B4
12¢ 1p|  1074213|3%% 1,000 T~ (LAt B4
12¢ 1p| 1074214|¥ 2 3 ¥ 1,000 T~ (LAt B4
12719 | 1074215\ i % 1,000 T~ (LAt B4
12¢ 1p| 1074216|2 $ % 600 | e » i T 5 At e
12¢ 1p| 1074217|2 &% 500 T~ (AT B4
12¢ 1p | 1074218|% 4 i 500 0T~ A B
12¢ 1p| 1074219|% & & 200 T~ (AT B4
12¢ 1p| 107422058 34 200 T~ (AT B4
12¢ 1p| 1074221 |38 584+ 200 0T~ A B
120 1p | 1074222|3%5% 35 200 MG % AF e
12¢ 1p| 10742233 % % 200 MG %A e
12¢ 2p | 1071839/ + 4 1,000 T~ A B
127 2p 1071840| % f 5 2 fr 1, 200 M~ A B
12720 | 1074246 2 fcil ~ +h32 2 ~ AR~ £ 75 12, 400 T~ (AT B4
12929 | 10742473k & ~ gojx T 2,000 T~ (AT B4
12729 | 1074248|E 4 ~ £ 8 & « & angp 3,000 T~ (LA B4
120 2p | 1074249|% 7= 2,000 T~ (LA B4
129 2p | 1074250|% = 3% ~ § 2 2 4 1,000 T~ (AT B4
120 2p | 1074301|% ¢4 % ~ $ha % 1,800 T~ (LA B4
12920 | 1074302| 8 5% - B4 - By 3, 000 T~ (AT B4
124 2p 1074303|Ew <~ ~ -2 - PR ¥ 3. 000 A A
120 2p | 1074304|3x % 3 3, 000 T~ (AT B4
120 2p | 1074305(% 419 1. 000 e~ At
120 2p |  1074306|% &% 6. 000 e~ At
120 2p | 1074307 % 41z 1. 000 e~ At
120 2p | 1074308|4 » = 1,000 T~ (AT B4
120 2p | 10743094235 = 1000 e~ At o
129 2p | 1074310|#& R P ~ 3 48 ~ gRsfie s fReb g 4, 000 T~ (AT B4
127 2p | 1074311|#* £ 3 ~ 5 FfE ~ & b7 ~ § B 7Y £ 2, 400 T~ (AT B4
12929 1074312[7#'% - 3R ¥ 33~ 3 & & 2, 400 M N AT B
127 2p | 1074313|m % & 2. 000 e~ Lt
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B3 fedh i s A I3 i §a
122 2p 1074314 (582 # 1,000 T~ GAT B4
122 2p 10743152 48 2 1,000 MofT ~ GAT B4
122 2p 1074316| %35 & 200 T~ AT s
122 2p 1074317+ & 100 T > AE B
122 3p 1074227| 2 35 % 10, 000 M ofT ~ AT B4
122 3p 10742283 7 48 8,000 Hea A e
122 3p 107422913 & 7% 8,000 Hea A e
122 3p 1074230 & 2: 4%, 8,000 tea A e
122 3p 1074231 |gpAtsar 5,000 T~ AT BA
127 3p 1074232 < @ 3,000 T~ A BA
122 3p 1074233 & < ~ 4 3,000 T~ AT BA
127 3p 1074234 | 5% j 5 2,400 T~ AT BA
127 3p 1074235|m £ 4% 1,200 T~ AT BA
122 3p 1074236( & £ 1~ 1,000 Mo~ AT A
122 3p 107423738 % & 1,000 Mo~ AT A
127 3p 1074238| 2 4.5 1,000 Mo~ AT A
127 3p 1074239 (37 242 % 1,000 Mo~ AT A
122 3p 1074240 [k 47 + 1,000 Mo~ AT A
122 3p 1074241 |4k = 13 600 Mo~ AT A
122 3p 1074242| 44> % 500 Mo~ AT A
122 3p 107424338+ % 500 Mo~ AT B4
122 3p 1074244 % ~ & 500 =T » AT Bs
127 3p 1074245 |33 47 500 Mo~ AT B4
122 3p 1073551 & = A L 2,000 ¥ R AT B
122 4p 1074434|% & % 300 ¥ R AT B
122 4p 10735523 = 4 4 1,000 ¥ R AT B
12% 4p 1073553 % 3& % 1,000 ¥ R AT B
122 4p 1072554| k% 75 1,000 ¥R AR AT B
127 5p 1072555 % 3& % 1,000 ¥R AL AT B
1272 5p 1072556+ % # 1,000 g g At es
127 6p 1074091 (& & = 1,000 Mo~ AT B
127 6p 1074092|% % = 1,000 Mo~ AT B
127 6p 1074093|F * 42 2,000 ModT ~ AT B4
127 6p 1074094 | % 3% 1,000 Mo~ AT B
127 6p 1074095|% %~ 1,000 Mo~ AT B
127 6p | 1074096|% & 4 # 1,000 Moy~ AF B4
127 6F 1074097 4 % * 2,000 Mo~ AT B
127 6p 1074098(= -~ 45 40, 000 Mo~ AT B
122 6p 10740994k 4> % 40, 000 Mo~ AT B
122 6p 1073092 % % -k 3.000 e~ AT s
127 6p 10743182 #4 1,000 Mg~ (i s
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127 6p 1074319|2 % 4= 2,000 e » A B

127 6p 1074320(5% * 4 2,000 e » A B

127 6p 1074321 ¢ #7p4 1,000 o » A B

127 6p 1074322| =32 1,000 Mo » A B

127 6p 1074323|3% + &% 500 ¥R A=A

127 6p 1074324 |15 i#= & 200 ¥R 424 A Bt

127 6p 1074325 % 4 600 Mo~ LA B

127 6p 1074326| % 4% 600 Mo~ LA B

122 6p 1074327|E £ 2 500 Mo~ LA B

1272 6F 1074328 & 1® & 500 MofT ~ AT B

122 7p 1074100{772* % & 2 % 7 547+ 5 § 4,000 | qc ~ B F F g AT et
122 7p 10742512 % & 500 | i » G F F g AT B4
127 7p 1074252|% 37 57 500 [ Mz » G F F 5 A >
12% 7p 1074253\ B2 B 2,000 M f ~ LA S

129 7p 1074254 %1 % ¥ 500 [ Mz » G F F 5 AT 25
122 7p 1074255| = % 5§ 500 [ Mz » G F F 5 AT 25
122 7p 1074329 % m & 1,000 | Mz » G FF 5 A e
129 7p 1074330\ & & 200 | Mo~ G F Fr p AT B
122 7p 1074331|% ¥ = 1,000 [ Mz » G F F 5 EA4F e
12% 7p 1074332 & # pr 200 | T~ GF F g AT B
122 7p 1074333 2 &4 200 | T~ GF F g AT B
12% 7p 1074334(% + # 200 | Mofz » GF f f AT
12% 7p 1074335(m 2. 2 2,000 [ #qc» G Ff q kAt e
122 7p 1074336(% m 2 ¥ 500 | Mz » G ¥ f f AT 2
122 7p 1074337 % ‘= 500 | M » G F F g AT B4
122 7p 107433858 7 500 | Mz » ¥ f f AT 2
122 7p 1074339| & 27 3% 1= 1,200 | Mo~ G F F g AT B4
12% 7p 1074340|+:4 £ [l 1,000 g g oA et

12% 7p 1074341+ % & 1,000 g g A et

12% 7p 1074342| %4 = 1,000 [ #qc ~ G g 5 AT B4
122 7p 1074343| 57 2 i 500 | M » ¥ F g AT B4
12% 7p 1074344|%] 5 i 500 | M » G F F g AT B4
12% 7p 1074345|m % i 1,000 | Mo ~ G F F g 4T B4
12% 7p 1074346|m £ 4% 500 | M » G F F g AT B4
122 7p 1074347| % § % 500 | M » ¥ F g AT B4
122 7p 107434845 i & 300 | T » G F F g AT B4
122 7p 1072557| & > 3 20, 000 g g AT e

122 8p 1074720{% 23K, 3,000 [ mqx » G Ff p At e
122 8p 1074350(5& 51 78 3,000 [ mqx » G Ff q kAt e
122 8p 1074351|38 & 45 ~ *5 %3 ~ ¥ g 3,000 ¥ & AT B

122 8p 1074369]5& 33 1, 200 ¥ & AT B




MM A R MR

g2 110129 1p-110#129 31 p Fi4FE2 3

111#1% 158 9

PH | R es &4 # v 3
120 8p |  1074352|58 425 1,000 8 % 4t
120 8p | 1074353|4 % 2 1,000 g % At o
120 8p | 1074354 % 3 1,000 g % At o
129 8p | 1074355/ =% 1,000 g % At o
127 8p |  1074356]4 % 4 1,000 i & % o
120 8p |  1074357|#vi # 200 G %t
120 8p | 1074358 4 % 3e 1,000 & % 4t
127 8n | 1074359| T e e FTERTERE S TR 500 8 %At o
127 9p |  1074360[m 1 = 2,000 g % At o
120 9p | 10743613 ~ e e 1,000 8 % 4t
120 9p | 1074362|m 45! 500 Y % At o
120 9p | 1074363| £3% 5 100 g % At o
120 9p | 107436455 et ¥ £ 500 e~ A
120 9p | 1072558 2,000 i & % o
120 107 | 1074256]% § 403 ¥ 15, 000 e~ AT B
120 109 | 1074257|3%48 ¢ 3,000 e~ (AT B
129 109 | 1074258|s% 4ife 2,000 e~ AT B
120 10p | 1074259|t i 4% 8, 747 e~ AT B
120 107 | 1074260| % 15 1 5 & 1,000 e~ (AT B
120 107 | 1074261|% 151 5 & 1,000 M~ AT B
120 10p | 1074365|~ i 1,000 & % 4t o
125 107 | 1074366(45 47 % 500 & % 4t o4
127 10p | 1074367| x5 % 200 G % e
120 109 | 1074368|pt 71 100 8 % 4t 4
120 11p | 1072559(% = « & 3,000 F 5 42 i o
127 129 | 1072560|#2 8 1,000 e
120 12p | 10725613 % 1,000 i & %t o
120 139 | 1071842 %15 & tin 2 10, 000 e~ G s
125 139 | 1074370[§ 2 & 5,000 M~ (AT B
127 139 | 10743713 2 & 2,500 e A e
120 139 | 1074372[i e 1,000 M~ (AT B
129 139 | 1074373|% 2 ¢ 600 Mo A B
129 13p | 1072562(m 4+ 1,000 5 % At o
120 14p | 1074374 = % 500 8 % At o4
120 14p | 1074375]m 45 500 8 % At o4
127 14p | 1074376(m & 2 500 g % At o
120 14p | 1074377|% % 500 g % At o
127 14p | 1074378 % 5 2 500 g % At o
120 149 | 1074379|# 454c 500 g % At o
120 149 | 1074380(47 38 4= 500 g % At o
120 14p | 1074381|% % jF 500 8 % At o4
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Y| khBR et & &I i 7 Ay
129 14p | 1074382|r "0 4p 500 & % A ot
127 14p | 1074383|¢ % 3 500 & % A ot
129 14p | 1074384|% # 500 & % A o
127 14p | 1074385|%1= % 500 & % A ot
129 14p | 107438642 4o 500 ¥ % it ot
120 14p | 1074387|%) < % 500 ¥ %t ot
129 14p | 1074388|snaim 56k 2,000 ¥ %t et
127 14p | 1074389|% & & 2,000 & % A ot
129 14p | 1074390 |i # 5c 300 ¥ %t b
120 14p |  1074391|% < 3 200 & % A ot
129 14p | 1074392\ % e § 200 ¥ %t et
129 14p | 1072563 |4k = 5,000 & % A ot
129159 | 10730945 7 4 7,700 T~ (A s
127159 | 1073095|m 35 & 11, 000 e~ A s




